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Transformation Reference Sheet
State the transformation from the original graph.
Translations:
Original: y = x2
y=x*+3 y=(x—4)7 y=[x+1)32-2
Rule:

Oct 8-7:36 PM
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Vertical Stretch & Compression: "

L

Original: y=x2

y=2x y

Il
h.?'lH

Rule:

Oct 6-10:24 AM

Reflections:

L

Original: y = (x-4)2 T
y = -(x-4) y = (x-4) ‘
Rule:

Describe a sequence of transformations that will transform the graph of the function f
into the function g.

1. f(W)=x2+4 togx)=x+3)2+1

2. f)=x2togx)=2(x—1)2+3

Oct 6-10:25 AM
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As Transformations:

Parent graph: y=x* s
(x~(h))
Vertex formn y=alx-h)2+k

a > vertical stretch or compression
Y . Q> O<ac|
h = horizontal shift left or right

A k> vertical shift up or down
(h, k) > vertex of the parabola
V. aos > X=h (\lﬂc)

Mminimum or maximum occurs at the vertex

if a > 0 graph contains a minimum (opens __UP )

if a <0 graph contains a maximum (opens down )l

Oct 8-7:41 PM

Describe the transformation(s) from the parent graph y = x? to the new graph.

‘j—‘%t e
1. y=(x+2)*-1 2. y=-2(x—1)2+3
@ F+ 2_ Vet cal Steebch oF 2
@ clown I & rx-o\x'u 4
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General Form:
y=axt+bx+c,a#0

aos 2 X = —b
2o

vertex 2
Ehic)

Oct 8-7:42 PM

For each’ of' the eguations below, ﬁm[ the ﬁ//;»w*z'nj.'

a. aos Mb\f}' L‘ « (‘ﬂ( & sketch

b. vertex Pai’\+ e. range

¢. state maximum or minimum f intervals where increasing & c/écreaﬂ'nj

3. glx)=x2+2x+ 6 @f(x)=—x2—8x+5
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5. 9K = (x-2+3 @fm = 2+ )1

@ x=h %3
(5 -3,-1)
@) <o M\ mMmaximun

(dg T S (@) (o2y-1]
(£) T (‘“\’3>
O: ("")\‘6\

Oct 8-7:43 PM

From Text pg 233: 51 %

A rancher needs to enclose two adjacent rectangular corrals,
one for cattle and one for sheep. If ariver forms one side of the
corral and 240 yards of fencing is avdilable, what is the largest

total area that can be enclosed? v

moﬂ"b d‘r Pr'\('l:\g H /Q‘ (—k)

|- xz‘;f;xw;j;w&,, h)
A x(290-3) : Q4ox 3> D\ H-%(l:m)

X:b 220 40 Iy D 4B syds
2 2(3)
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. Homewor& pg 218: 31
- a0 231 - 232:
&trangformations from y =x °

_ %30.‘19 7 ";’
-—5\'&- =0, Quiiz day‘
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